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26,8 Liter , 40 Hz-es hangoldssal

KUIon reflexcsé nem kelll

A belsé méretek tartdsa nagyon fontos!
Lazdan vatelinnel kell kitélteni .nem
szabad témnil

Designed : Ptesza
27.12.2013

——SPLtot 3t 70,0 W power input
——SPL produced by driver

SPL produced by port
———SPL produced by leaks

Vented Box, Vb = 25,0 |
1x Robi 85.

362,97 Hz Fb = 40,00 Hz ——Impedance of voice col (Ohm)

Response peak =

.07 dB

Speaker Impedance
1x Robi 85.
Vented Box, Vb = 25,0 |

F3=5297 Hz Fb=40,00 Hz
Response peak = 4,07 dB
Qa=200 QI=30.0 Qp=90,0

20,00
——SPL roduced by driver at 8,0 mm peak excursion Qa=200 QI=30.0 Qp=90.0
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Peak Cone E.xcurslon ——Port air speed (mis peak) at 70,0 W Port Air S_pEEd
——Cone sxcursion (i peak) & 70.0 W 1x Robi 85. 35297 He Fb 4000 He 1x Robi 85. F3= 5297 He Fb=40.00 Hz
Vented Box, Vb = 25,01 _ ——7.5% of sound speed = 25,9 mls Vented Box, Vb =2501 Response peak = 4,07 dB
——HNax linear peak cone excursion = 8,0 mm Response peak = 4,07 dB 0.0 Ql=30.0 Qp =90.0
Qe 200 Q1-300 Q=900 ——5.0% of sound speed = 17.3 s 0 QI=30,0 Qp =90,
w000 - -0 Qp =30, .00 cm Length = 35,08 cm
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